[image: image1.png]=10l

WB/100(u/sYN]  Frequency Response HllResponse 1. Foros) (Magntuce) Cursor Values =
Modal - Inpu - nput - Mocal FT Anaiyzer 1 —— | Y-4s1a@100
X=1000H:
o 7
— A
2 status
/1672011 15:10:
Averages:5
Overoad: 0.00%
“
Resonance
0 Frequency = 1150
Cant compute Def
1 4 1 ) %0 =
L] KT
v2 =10lx]|
[98/1.00 (/s3] Frequency Respanse H1(Response 1. Frce)1 (Magntude) Cursor Values
Modl Input - - Modl FFT Ansyzer 1 | Ym0 e
o X=1000H:
2
L Status.
T BAe/201 15102433
o) Averages:5
! Overoad: 0.00%
0
K —





